
Rounding and Estimating L1 L2 Mark Scheme  

1 8 [1]

2 1.1 [1]

3 1 [1]

4 90 [1]

5 36.5 [1]

6 36 [1]

7 7 × 5 [1]

35 [1]

8 2 × 19 [1] allow 2 × 20

38 [1] allow 40

9 9 × 3 [1]

27 [1]

10
7.74 → 8
4.13 → 4

[1]

"8" × "4" = 32 [1]

11 52 → 50
24 → 25

[1] Allow 52 → 50 and 24 → 20

"50" × 7 × "25" = 8750 [1] Allow 50 × 7 × 20 = 7000



12
48 − 4 (= 44)
4.07 → 4

[1]

"44" ÷ "4" = 11 [1]

13
400 − 200 (= 200)

2.87 → 3
[1]

"3" × "200" = 600 [1]

14
58 + 7 + 5 (= 70)

7.1 → "7"
[1]

70 ÷ "7" = 10 [1]


